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If P =Rs.15000, R = 10% per annum, T = 2 years then Simple Interest is:
afZ P =15000%, R = 10% Ufa a9, T = 2 I9 91 ATLRIT ST 2

1. 6000 2.3000 3. 8000 4. 2000
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What will be the simple interest of Rs 5400 in S years at the rate of
12% per annum?

5400 TUY HT 5 TE T 12% STk hl 2T T ATYTOT SITT T RTT?

(SSC CPO SI 2017)

(a) 2700 (b) 2950 (c) 3120 (d) 3240




At what rate of interest will a sum of Rs. 4,500 amount to Rs.6,525 at

simple interest for 6 years?
TSI <hl TohE T UX 4,500 <hT TIIT 6 TT ok {e10 AT ST W 6,525

SO T TI9T ER2 (SSC CGL Tier- II - 2019)
(2) 8% (b) 7.5% (¢) 10% (d) 9%




A sum of Rs 1080 amounts to Rs 1242 at simple interestin 3

years. Find the rate of interest ? |
1080 T <hT ITTIT 3 TWT H FTLRUT AT <hl 2 H 1242 & 21 ATAT 2 | I =X AT

o~ N

ch ST ?
| 2.5.25 3.5.5 4.6
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If the simple interest for 9 years is 45% of the principal, then find the rate of interest
per annum.

qfS 9 T hT HTLARUT AT TALT T 45% 7, AT ATk AT shl I AT hHIT<TY
(SSC CHSL 2020)

(2) 5% (b) 8% (c) 9% (d) 6%




Ratio of the principal and the amount after 3 years is

29. Find the rate of interest per annum.
HeTe 3R T &7 3 a9 oF &g 3TuTd 20 : 29 g Tfd a9 s37e =X A1d

A

st | MITS 2018
1.15% 2.17% 3. 18% 4. 12%
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The simple interest accrued on a sum of certain principal is Rs 7,200 in six years at

the rate of 12% per annum. What would be the principal ?
T Al Jerem W 12% A1 /A B 9 6T ATURT AT 7,200 7l HAST T

T2

A) Rs 1,0000 B) Rs 1,0550 C) Rs 1,0500 D) Rs 1,0250




'
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If a sum becomes thrice of itself in 20 years, then find the
rate of interest.
I{q Ueh ATIVT 20 9 H AT T AT BT SATAT &, T AT S AT hifera

1. 5% 2.10% 3. 15% 4. 18%




In 5 years, the sum double itself at simple interest. In

how many years it will become 8 times?
HTLTOT ST O 5 01 H ekl ST SHT 81 Sl €| ST fehe s ool o 8 T

2 SO T 2 CHSE, 2019
1. 30 2. 35 3.40
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A certain sum of money triples itself in 5 years at simple interest. In how

many years it will be five times?

ueh At TivT avamur s W 5 9y w1 T gy St 71 o ot |
qg qiel AT §1 SATC?

1. 10 2. 25 3. 20 4. 15




The simple Interest on a sum of money is 1/25 times of the
principal when the number of years is equal to the rate of interest

per annum. The rate of interest is:
Teh THT2Id URRTT9T U ATLROT SATST Hered T 1/ 25 AT &1 ST & STa 91 shl ST

ST UTd a9 shl @ o IR gl sATT 22 2 STENO 2017
1.3 2.2 3.1 4. 4




At a rate of Sl the interest on a sum of money for 10 years will be 35

th part of the amount. Then rate of Sl per annum is (in %
TTLTOT SITST ohl 2F § TehET LTI UX 10 T kT SATS W9 SRt /59T 9RT 2| T

ATIROT ST UTd a9 & (% H)
a)30%b)15%c)10%d)6 %




A sum is given on simple interest for 2 years at 5%. If the sum |s

given on 6.5% rate then interest will increase by 1500 Rs. Find
the sum.

Uk TTTIT 2 Y ok {e7U TTUTROT ST W 5% <hi =¥ O I3 2| TATE TI9T 6.5% <kl 23 UL 21 10,

AT =TT 1500 FUH T I ATOT | A9 ATT <RI |
1. 30000 2.60000 3.50000 4. 5000




y MISSION SSC 2023 /TN [ IV

The principal of Rs.600 becomes Rs.708 in 3 years at a certain rate of SI. When the
rate is decreased by 1.5% then what will be the amount?

FTLRUT SATS <hT Tk T 3 UR 600 T T HeTe 3 It § 708 U T 14T 81 T X H
1.5% <hT ST <hT AT § T THT Teha+t grit? CGL PRE 2020

(a) 681 (b) 636 (c) 700 (d) 736




A sum of Rs.5000 is lent out in two parts, one part is given at 8% rate
of simple interest and the other part at 10% rate of simple interest.
If the annual interest is Rs.460, then sum lent at 8% is:

a1 AT H 5000 O <hT SFTTT9T 36T & AT 2, Teh R <l 8% FTERUT ST WX AR O
THT <hT 10 FATUT ST ehl 2% WX 54T ATAT € | TS IATideh saTaT 460 % &, af 8% UL &t
T T 2

1.2000 2.2100 3.3000 4.1900




A sum of Rs. 36,000 is divided into two parts A and B such that the simple interest at
the rate of 15% p.a. on A and B after two years and four years respectively is equal.

find the principal of A.
36,000 T <hT TIIT T T AATT A 3TR B | 36 TehX forariota feram Strat @ o6 15% p.a st

Y ATIRUT AT A 3R B W SHATT: 31 I9 3R TR W o 18 G gl A T HALH [T

hifs@l  (SSC CPO SI 2020)
(2) Rs.24000 (b) Rs.12000 (¢) Rs.36000 (d) Rs.18000




A lent Rs. 6000 to B for 3 years and Rs. 7000 to C for 4 years on simple interest at

same rate of interest and received Rs. 4600 in all from both of them as interest. The

rate of interest per annum is:

AT 6000%. B 3 AT ok T8 3T 7000 T C U 4 I ok {70 THTH AT &Y WX SR T
I AT A HeA THEATRT 4600 U FTLRUT ST o &Y § ATH R Tl o samt hl T &:

1)5% 2)10% 3)15% 4)20%




Divide Rs. 6000 into two parts so that simple interest on the first part for 2
years at 6% p.a. be equal to the simple interest on the second part for 3

years at 8% p.a. Find the first part .
6000 To= T 3T THR 3¢ 9T H i i qrfer ager 9T W 2 99 & 1w 6% ufa o fir

| |TLROT AT, TA AT W 3 96 o forg 8% uftr e <t =3 & Arermor st & sRer 2 . ugett

T @i
1) 2000 2) 4000 3) 2500 4) 1500
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A certain sum of money put at a rate for 4 years at simple interest. If it had been put
for 5% higher rate, it would have fetched Rs.2500 more. Find the sum?

Ueh Ffare widt st ETameT SISt UX 4 99 i S E T AT 8| T W 5% 3TTreh W
TATTAT SATAT, a7 T8 2500 TUX 37Tk UTH ShIdT| 9T T hifere? MTS 2017

1)18000 2)15000 3) 12500 4)16000




A man deposited same amount in two banks separately for 4yrs. and 6yrs. respectlvely

at the same rate of 6% p.a. at simple interest, and he got Rs. 14400 as the difference of

simple interest from both the banks. Find the total sum of money.

Ueh TTEHY = T 3TN ekl H FHTT &FT9T ShHIT: 4 I9 37X 6 I ok {10 6% UTd au shi a7 &
TTLUT AT U {497 Sh¥aT 2, 37 3H 24T dehl ¥ UTH FTHT TS Rl 37a¥ 14400 TUA E |

el TTIOT AT <hiTTd |
1. 120000 2. 125000 3.210000 4. 240000
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In how many years simple interest obtained on Rs. 8000 at 3% per annum will be eqal

simple interest on Rs. 6000 at 4% for 5 years?

8000 TUY UT 3% Ut a¥ Tehad aW H &l ATLTUT ST UTH ATk 6000 & U 5 ATA ok {10
4% Tt 99 o T2ETT § UTH HTIHUT ST o THT BHIT 2

a) 4 years b)Syears c¢)6years d)8years
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Simple interest on a sum of money will be Rs 2235 after three years. If in the next 5 yars

principle becomes 3 times of the previous principle. What will be the total interest in

eight years ?

A 9 a1 foRET SARTTST UR |TERuT SATST 225 A TR ATE 3T 5 a6t § g fuse
AL RT3 THT BT SATAT 2| TS THI H hel SATS feha =T ZRIT?
a) Rs. 1275 b) Rs. 1350 ¢) Rs. 1735 d) Rs. 985
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On a principal, Rs.700 Simple interest is obtained after 8 year. If the principal is

reduced to half itself then after 4 years, how much SI will be obtained?
T HeTeH UX 700 S ATLR0T ST § AT 18 ATH BId. 51 ATS TAL i TSTHRT HATUT
T wITu 1 4 o @1 feRaaT wTeRUT ST I g

(a) 350 (b) 175 (c) 1050 (d) 525







